KR RAR NRIEEOERE (B4 : km)

TR30FE4R1BRE

fEIRAMmE Y fBFIRAME Y

N X & .o e X
1R | B /2% mH | B
FKIRERAT Jé — FKIRERAT &4 -
ERAT—TH oé 0.3 KIRE R 0# 0.4
FH LR AT Oﬁ 0.5 ERAT™T B 0@ 0.8
HAERER d3 1.1 F2iIE dz 1.2
BEHET7/NA—FER 0'3 1.4 KHET 0'3 1.4
L fw B AT 65 1.7 FRET=TH 05 1.7
f=HET—THB dz 2.2 hREFERT oﬁ 2.0
{EHET=TH d3 2.4 thft—TH 0@ 2.1
f=HETTE d4 2.1 £Mm—TH d4 2.5
KET—TH oﬁ 3.1 P S /N ES k] 03 2.9
HmEEN d5 3.5 Xittr4—m 03 3.2
E R mtiEn dz 4.0 KR & ATl 03 3.5
wrm—THB d3 4.2 FEEHHE 05 3.8
WE_TH 63 4.5 A 7 2 KIRAI d4 4.3
LK IE P9 66 4.8 wEAEDO 03 4.7
il Oﬁ 5.4 {5 KHT 03 5.0
E5 /A 05 5.8 = RE R 63 5.6
mEZ L ER/T Of 6.3 T B 04 5.9
EERRTEE O 03 6.9 hR=TH 03 6.3
i I A2 | Of 1.2 bR =-TH Of 6.6
1% 78 R /S Al 05 7.8 NT T d5 6.8
TPt a— d3 8.3 ] d4 7.3
] Of 8.6 TtV E— d5 1.1
N T THI Oé 9.2 1k 78 B 3 S AiT de 8.2
hR—-TH 0.2 9.4 mEa = 0.3 8.8
FRR=TH Oﬁ 9.6 EEFrEE O 05 9.1
FRmETH d3 10.0 i &L EET 05 9.6
= RE R d5 10.3 5/l d5 10.1
18 K HT d4 10.8 Z ol 66 10. 6
wEeELEDO 05 11.2 WK IEPY dz 11.2
A 7 2 XKiR7 d4 1.7 WE_—TH d4 11.4
FEEEHEAE d4 12.1 wrE—TH d3 11.8
KR ATl d3 12.5 Rzt 63 12.1
Xkt 2—m 0& 12.8 HRIEER d4 12.4
| 5 /NS v} dz 13.1 KET—TH d4 12.8
£Mm—TH : 13.3 = HETTG 65 13.2
! 13.3 i 3L R B AT 65 13.7
! 13.3 tEHET—TH 63 14.2
! 05 13.3 fEHEBT=TH d4 14.5
KHET 0' 5 13.8 BEMHEET/N—FE 0' 3 14.9
F2IE d4 14.3 HHAEREE 65 15.2
ERAT™ T B dz 14.7 FiH LR B R dz 15.7
KIRE XA d4 14.9 EREI—TH d4 15.9
FKIRERAT — 15.3 KR EBRAT — 16.3

_56_



